BROCADE

INTELLIGENT CLUSTER 1410
RACK MOUNT INSTALL GUIDE

Supported products:
ICX 6610




| Installation




Installation

1 Brachket, front right 2
3 Screw, 10-32 x 5/8 in., panhead Phillips 4

Bracket, front left

Retainer nut, 10-32, square or round hola as neaded



Installation

o

=

[=l=f=r=l= %

FEEEEE 0 0

1]
[
]
¥
1]
)

1 Bracket, front right 2  Bracket, rear right
3 Bracket, rear left 4  Screw, 632 x 1/4 in., flathead Phillips




Installation

b b

1 Bracket, front right 2 Bracket, rear right
3 Retainer nut, 10-32, square or round holes as needed 4 Screw, 10-32 x 5/8 in., panhead Phillips



